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~~o J;. ~ ;'it~x.:J;..*.1-:t Jt~ ., fl i-A- • &.. ep li ;'it ~x.:J;..*1-:t Jt~ ., fi iJr j-2:..-lij:: ft~ 14- it1t}'N ~ 40k 

It 30k 0 ~AiJ:i&At)i-}jll~i!~1~~Btf'~sm 100 1~lt 80 11il~!*•.}Jtl11i' j£~~J'l~~Jlt!* 
(Jrl1Ji.:k) it ro $.r 1'1 Ya' "! 1 £. Ya' ~ 4 00 

( )#1 1±.J~tf7j("~ 0.05 :t.r ' *tit~jj] ~fx.:J;..*1.:tM-rfiSP-:t~i-A-. &..trli~fx.:J;..*1. 
;f-!lJl-r ~ SP-:t~ iJr. it.~ {iii t-(*41R1"9:"1 "=~ ~ ~;fx.:J;..*1. ' "2"~er~~ fX.:J;..* 1- () ) 0 t~M Jt 
hit If« 1~1"ti.~ ft :!L 1~11i.~ 1tiJ ? 

A. HO: 1-'1 =1-'2 vs. HI: ftl "* 1-'2 

B. Ho : /11 > 1-'2 vs. Hl : ftl < 112 

C. Ho : J.ll > /12 VS. Hl : J.li < 112 

D. Ho : /11 < 112 VS. Hl : /11 > 112 

E. Ho : /11 < /12 vs. Hi : III > /12 

( )#2URJ:.:J!)~{M"ii~Jt~2.~i!~~6~1B.~{;f? 

A. ~f,-.1t+Za = +ZO.05 = +1.645 

B. 1f1..~1.t+Z2a = +ZO.l = +1.28 

C. e.f1..1t+Za/2 = +ZO.02S = +1.96 

D. 1i£.f1..1tZ2a =Zo.OS = 1.645 

E. • 3!!.g..l!Jj( 

( )#3 ( jftJ:3J!)lit Mtt J-*"!~ it t.Jttt -t ftf .f.mff,J ~1-\ ~1iif ? 

Z = ffi-f52A. 
f}(1-f})1...[ii 

Xl -XZ -(1J.1-1J.2)
B. Z= 

(J1 2 I ...{ni+(J z 2 I..fili. 

Z = Pi-PzC. 
.JfJ(l-fJ)/n 

X1-XZ-(lJ.l-1J.2)
D. Z= 

~(J12 Inl +(Jz2 Inz 
, 

,.'" lI!.'~Ai!JAaE. ~ " 
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j~ 5L A. ~ 106 ~.if=-Ii. ;(;~ ± J)I -t?3 !£ 3tf ~~~~~ 

/', -t \ 

~ Jil] : {£- -t If J!. ~ ~ 	 *t E:l : #ttt ~ '-r J ­

~~i\. El JiA: 3 J1 4 El (J..JA~) ~ 2 ip *~I!~ 1m AI!' 5 R 
( )#4(jf<.1:..~)~1t t.4i.1'~~:.fk ~,tJt;tt f:1t~-2.7895 ' 1"~ro~ ~~{¥tti:.fk ~.z.~t1"~ ~1ar ? 

A. 	 ~£.~~Ho' J,la = O.05T '~1t~~f?lftaJL~i1~~**1.:fJtJj1f~SP-i~~f.fpli~ 
~t;k*!t=l J(ij l' ~ .f- i4J AA- f ~ij t 0 

B. 	 /f::tEJ!Ho ' :{f.a = 0.05T ' :1f 1f..~gf~ltaJ3 *~ ~;ft;k,* !t~Jt~-t- ~ Sfi4J ~ if~ tr ~ 
l ~t;k '*!t=l JtJ3 -t- , if i4J Hfr j- ~ij * 0 

C. 	 .tli~@.Ho ' :{f.a =O.OST ' 1; Jt~~.~iafI ~ II ~~t;k* !t~W3-t- ~if-3:4J iJf =t ~tr~~ 
~;k~ .1. ~,~~ ~ if3:£j HJf 'i :iF {ij * 0 

D. 	 /f:.tli~@.Ho ' :{f.a = 0.05 T ' 1; Jt~1f~t;iaJL~ II ~ ~tA~.1.~~~ ~ if-3:4J iJff ~fp Ji 
I~A• .1..J(ij~Iif-~~=t:iF~.o 

E. 	 ~3J~:~l!J~ 

( 	 )#51i.ro'r~ll1*41ar;fkj ~(Qualitative)f*4? 

A. 	 JJ ~a<J ~ t1i 
B. 	 -li1Jf-it~tff.J i:-I 
C. 	 !fij; 8lT l!~nl~tJF{{.J it1"tiitt 
D. 	 ~;ftif Sf.-lt1fcJi 
E. 	 ~~l:G"P1T~1'a<J~ ~)N 

( )#6 ~i"ti~ 1tB~ j:.:#l~:if: ~!fi ~ 0.025 ' ~ "" tf I~A~.tth ill 8 100 *-~~ , 4'- X 1~:t<.:iF tt £ a<J 
1iit ' t:-\: po, X ff.J. $ )i-llic. ~:di1J? 

A. 	 X-Normal(8, 0.025) 

B. 	 X-Normal(0.025, 8) 

C. 	 X-Bernoul lie (1, 0.025) 

D. 	 X-Binomial(8, 0.025) 
E. 	 J:J. 1:.. if ;Jf 

( 	 )#7 ~ j:.1f~tl mf4.#\~Ltt*~:t. 168 1.tr. J\.:L tf.tth ill 8 1ft ~.:L ' ~ 3!4it1.tr.~li~th ill Ji.:L,f,;J *1. 
~.ft.'~f.lo ••ill.~~.~~~~itff.J~.~*~.o 

A. 	 ..jf-1~A~.tth ~l 

B. 	 ~Ji M..#t.twtl 
C. 	 AA -'M.~~mtl 

D. 	 ~ MAthtl 
E. 	 j!~~t~th~l 

( )#8 ~ ~~1t~ 1Jf- {J@: f.k.*41} aJ .1. £ ~:t~ 2 1}ff-!ft ~ 0 a-*" ff.J #R.1!t f.k.*4 ' ffiJ Ji ~~o~ -J: a0 
t~ -' ,£ ~ 0.05 1}ff- 0 1~J.. -$to Jb t ,"ilil]{ft~8iJll\!.#t.tth *- 100 #a ' ~~At1:.. it jf1[4a tf *t~ ~~~J!. ' 

~-t po, ~m;tl t~t*-Sf~ tt {{.J;f~ ~ l:~ 1i1J ? 
A. 0.005 
B. 	 1.99 
C. 0.05 
D. 5 

E. 	 ~~~t~* 2 

http:ft.'~f.lo
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41-3 

( )#9 j.,X T ~ ~ WJ ~~ a) 2010~2016 +a~+f-~t(Jt11ir.:+~): 

1.68 0.88 0.08 1.32 2.56 3.8 5.04 

1t r"'1~ il ~~ 6J 2010~2016 + ~+*~t 0/ 1fttf:»,; J, jl? 

A. 0.88 

B. 1.32 

C. 1.68 

D. 2.56 

E. 3.8 

( )#1 0 1flt~:fft.1t a~ i~t~.l~ J:A T 5 -tV J~~:(1) 1!~j~ i-7]<.~ a (Alpha) (2) ;t =l~If~JlAit;t fI-J-W1 
t~ Ho a Hl (3) ;tA%3!s~#J:;ti9t;~tJ: (4) iA;t~-ff,.1tlllfi-ff,.l&~ (5) T~*1~(rejectornot 

reject) , 1ti.i* * 0 1tMT ~'Hllt~~ ;t ffJ int U ' 1Pf;;lf »,; .iE~ lilA Jt. ? 
A. (2)~(1)~(3)~(4)~(5) 

B. (1)~(2)~(3)~(4)~(5) 

C. (1)~(2)~(4)~(3)~(5) 

D. (5)~(4)~(3)~(1)~(2) 

E. (2)~(3)~(4)~(5)~(1) 

~ 7t:fff gifi1.~»'; ~:ftl;*it1i(Y)~ 1:; 1f 50ETF ~*it1i(X):Jl:.~ J~ i- a~ itftJ'fi. ~ j 11!0 

1rJl;titJ'!; , btf 1E.g~ "41~ j 3&-!- fI-J&.t.3t ~ jl-1l!4 ' j[JL1tffl EXCEL .tkftl1!tr ~~ -',tt 

'fij@.if 7t:fJT ' ff- 31IJ99 7t:fJT ~Il~~T: . 


ANOVA 


t:ld:1Lt SS MS F Mi-1i. 
~. 1 14.236 14.236 34.546 2.55E-06 

7~l:. 28 11.538 0.412 

~~3fa 29 25.774 

i<,jE 36.74 3.85 9.55 2.6E-10 

~it X 1.02 0.17 5.88 2.5E-06 

A. :Jl:.' [§ ~:fft;t#(.tt -.f F=34.546 ;k7R-~J{:f' 7]<.~ a = 0.05 

B. k' mJ ~:f~ .1t#t.1t I: F=34.546 IJ,7R-U-ff,.1i. FCO.OS,1,28)=4.1296 

C. :Jl:.' ffiJ ».; P-va1ue = 2.55E-06 ;k7R-JlJf.-ff,.,(t F(O.OS,l,28)=4.1296 

D. :Jl:.' l§ ~ P-value = 2.55·E-06 Jl'7R-I~;f7]<.. a = 0.05 

E. 	 ;if: k ' IN »,; P-value = 2.6E-1 0 'J'7R-M i-7]<.4! a = 0.05 
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4'/- Lf 

5 jf 

( 	 )#12 iR1:.3! • *4 ' 1tFotiE4 Ef.J j@jffj )~Hl~ Ef.J it~ :it~~ J.i ~ 1PJ ? 
A. 	 Y:;;: 1.02 +36.74X + & 

B. 	 Y = 36.74+ 1.02X 

" 
c. 	 Y = 36.74 +1.02X +& 
" D. 	 Y=36.74+1.02X 

E. ,!:A 1:. if ;}I=­

( )#13 --At ff.) N~Aij@.)}*Jt Jt. tf:' j@jf1~ttit 8:nTt 'J' if-~ i!-(least square method)fiJt{t. iTiJ ~ 
Ef.J ,.' ~-t MPIT~}1 ff.) lit ' j, if-1i {~ tfJ j{:~tit1Pf*l!fT l\t /1, 11:. *- ~jtWI-? 

A. 	 SST(Total Sum of Squares) 

B. 	 SSR(Regression Sum of Squares) 

C. 	 SSE(Sum of Square Error) 

D. 	 SR(Sum od Residual) 

E. 	 J-:.\ J:..i§" ;}I=­

(~¥l!08*~~£~tfJ••••l.'~~~~k~~••~~.~~.~.£~. 
'ltf ' I~A!l~!h 200 1j[~~t!]Ji. ' 1l!,Jr9'ff*4: (10~) 

h~ .~ a~ ,~~ j~tt 

13 ,ti 17 28 36 27 108 

-3t 1ti 34 25 20 13 92 

~,~tt 51 53 56 40 200 

2 3 4 

(1) Find 

(2) Find 

P(X 23) .(5 )}) 

E(X) .(5 )}) 

0.2 0.4 0.3 

x 

P(X-x) 0.1 

ll~At J:.. it~ § , tt4 ~JUi 7j(il! a = 0.0 5 ~r ' 1tm-+ ::?:ft ~*- .Jt~ Ilf,ti%,j it1ij J'o ~A ~1ia ~fk ~ 
~fUj 0 (1t*jf~ ili1F11t~~ , :ft~iJt1t:i ' ~~~~~ma1FI1ttt~~ik*~t1t) 

(eX#15~) ••¥~~t*~~•••~.,~*-~tta.'*••~.~~*MA 
a~if-~.40~~••A5~~tA~~Q •••~.xAta••~••~.~~* 
Fa' , ~-t~jtr 91J~/J':l!.:t..~ ~1t : 

(1) P(A>42) (10 )}) 

(2) P(X= 48) (5 ,1ft-) 	 4 

I 
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1);.~ 

1., w w "'- .. .. .. - . 
l(),~ 9~1103 7.3"7"'18 !t9915 4.6052 0.210'1 O.U)2~ 0..05(')($ O.OlOl OJllOO'" $; llJU·Sl 11..3449 9.3484 7.8147 6.2$14 O.S844 03,518 0.215$ (U148 0.0717 .. t·Uk1'03 tl.2167 11.1433 9.4877 7.7"1S"4 U)636 0.7107 0.4844 0.2971 O.2:CP7() 
1is.:74S1'6 1!U.le63 12.. 832$ 11.()70:S 9.2364 1.6103- 1..1455 6.an2 0.5543 0.4117 

~ " 18.3474$ 16..8119 14.4494 12.5916 lQ.~ 2.2041 1ASlS4 1.2373 -O.S'1::U 0.6757 
"'/ 20.2777 18.4(5) 16..0128 14.0671 12~)170 2.8331 2.1iS73 1;6$)9 1.239>0 !l.~l 
S 21.9550 1:0.~ 17.$345 15.50.7) l!LJ6<16 $.~ 2132.6 2.1 ":i'97 1.6465 1.34£44­
~ 2S.~ lL666tI 191.0"'''J8 16.9190 14..6837 41QU 3.32S:1 2.1004 2.0879 1.1349 
10 2'.188:2 23.209:! 20.4832 1&3()"i'O 1'.9$72 4..$6$2 3.9403 3.2470 2.S:5~2 1.l.SSg 

•• ........... 

I' 

.. ­
a z 

. 
i.1 
~.! 
t.3' 
~.4 

'~:M~ 
+.6 
0.'1 
~•.8' 
• .:9 
1.0 
1.1 
1.1 
1~3 
1.4 
1.1 
l.ti 
1.1 
1.1 
L'9 
! .• 
!.1 
"I .. ..-IIl".., 
.!.3 
:.4­
!.~ 
! . .e; 
..... '.. '" 
::.8 
l.~ 

J.'

,l.l 
J"t.... 
J.3 
3.4­
3.l!t 
J,;iS 
3.1 
..'l.s: 

(U)i) 

. 
G.O'S" 
()~079'} 

O.U19 
Od:.:SS4 
0:..1915 
O,,2:2S7 
Ct2SSO 
CtlHl 
(;1;3} 59 

CL3413 
O,}~3 
Ct3S49 
Ck4Cll 
(b4191 
0.4332 
0.4451 
(lASS'"
tt4641 
0.4713 

tL4712 
(t4821 
0-.48061 
(l;~~ 

Ck49lS 
O.4~3S 
0.49S!­
Q,496$ 
Oc4974 
0.49.61 

O.49M5 
O.~3 
(;,49931 
0.49952 
0.49966 
Q,49!J71 
0.49934­
fJ.4~~ 
O.~3 

3.(n (Ull 0.04- aM eM,)":' o.os 0.09 
. 

a0438 Ck~7S 
O~0031 CA)$l1 
O.1l17 0.1.255 
0.1591 (U.62S 
O.19'{l O.1;9$S 
0.2291 tl23l4 
0.2611 ()'2.s42 
0.2910 O.l9:l$l 
O,ll8;15 0.,3-:212 
0.3438 t:U.461 
O.366S 0.3616 
o,~ 0.3."8 
0.4049 0.4066 
OA207 (t4l1l 
0.434' 0-43S7 
0,4463 0.4414 
O.4S64 G,451!. 
0.4649 0.4,6$6 
0.4'19 1).4116 
O.4f7S OA,1&J. 
0,412'6 (tA33() 
0.4864 0.4$58 
0.4896 0.4$9$ 
0,4920 0.4912 
0.494.0 j)A~l 
0.495$ OASlS1S 
OAM6 0.4967 
0..4975 0.497<) 
0..4$1'$2 O,4~ 

Q49se 0.:49814 
o.~ O.4~lO 
0.49934 0.49:9'6 
0.49953 0.49955­
O.~$. Ct49969 
OA.'991S d.4Sl97S 
0.49$)85 O.49M.:5 
tl4~ 0..49990 
o.4~3 o.~3 

'1 '1 

THE END 
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0.2.019 0.2004 0.20118 0.2123 O.:n,7 0,2190 0.2224 
0.2357 o.~ 0.242.2 4).2454 0.24$6 0.2517 O~l34~ 
f).2:67) 0.2'104 O~Z734 0.2764 0,2"194 O,2Sl~ O.:!'$S2 
0,.2H1 0.299!\ o..lC:lJ 0.3051 0.307$ 0.)106 O,llSl! 
O.}2.U: Q • .3264- 0.11.;l1S:0 0.3:.3<15 0.3<340 c..3\36S 0.';3$9 

0.348' 0.3:501 0.3531 tt35~4 0.3577 0.3.599 {UQl 
OS1OS O.$719 0.3749 o.Jno 0.)190 0.3310 03830 
0.3901 O.392S '().!~ 0.39162 tll9SO 0.3997 0-401$ 
O.4USl 0.4099 0.411$ OA1;31. 0.4147 0..4162 0.4177 
.f.t4136 (t4l51 a4l~' .0.4279 (t4]91 OA3.06 {J.4319 
0..4370 'D.43S2 O.43~ 0.4406 0.4418 (t4429 0.4441 
0.4434 0.449S (1.4'0' 0.4'15 0.4525 O.4:S3S 0,4$45 
0..4'&2 0.""91 0.4599 0.4608 0.4616 (}.4fSlS UA63$ 
O.4U4 O.~l 0.461$ O.4~ 0.469) tt46:'9>S) 0.4706 
0.4'132 0.473S 0.4144- O.41:S0 0.4756 0.4"'61 0.4767 

OA'1$S 0.4'193> 0.419'5 (l ,t~tJ(3i 0.4$08 0.4812 0.4817 
0.4834 0.4838 0.4842 0,4846 OASSO 'OAe54 O.4SS7 
O~M)71 0.4875 0.487$ 0.48$.1 O.431A 0.48$1 0.4S90 
(l.4$)()l 0.49(');4 0.4906 0.4009 0.4911 0.4913 0.491'6 
0.492' ():,4927 0,4929 0.4931. 0.4932 '0.4934 0.4936 
0.4943 6.494:5 0.4946 0.4948 0.,4949 '0.04951 0,49S1 
0.4931 OAS)$'$t ·O.4!)60 O.49Eil 0.4962 '0.,4S163 0.4964 
O~496S GAM!\) .0.4970 o..497t 0.4912 0.497$ 0.4974 
0.4977 0.4977 0.4971 0.4919 .(t4979 O.4~ 0.49S1 
O.4~ 0.4984 :o.4~ (\,4985 O.4SJ6S '0.4986 0.49&6 
O.~1S O.49M2 Ct498S6 G.~ (t4~l (}.~6 Oo4~900 
0.49913 0.49916 OA.991S 0.49921 0.499;14 O.~16 (t499~ 
Q.4993>S ('t~40 G.~ (t~ Ow~ i)~4994$ OA99SQ 
Ct499S7 0.0$995$ 0.49960 0.49961 0.4996;2 o.~ 0 ..4996' 
0.49970 Ct49911 u.~ 0.49973 0.49974 0.4997' 0.49976 
o.~ O.4~ :O.~81 Ct~Sl O.4993l 0.49933 O.49~ 
o.~ M~ 'O.499S1 (l..~7 o.~ O.4~ OAi9989 
*:t··~~ 0..49991 0.49991 O.49W2 0,49992 0.49992 0.49992 
o;,~ o"~ 0.49994 0.49994- 0.4999$ 0.4SI995 0.49995 

http:3264-0.11

